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2010 Block and Bridle Stockmens Contest – Senior Team Problem

You have purchased a group of 100 feeder lambs (average wt=60lbs) at $1.00/lb. Your plans are to feed the lambs for 90 days and sell them at 120 lbs.
1. The expected daily gain for the group of lambs is?


(120 lbs -60 lbs)/ 90 days = .67 lbs/d
2. If the expected feed/gain efficiency is 5, 

what is the expected total feed consumption for the group?

(5 lb feed/lb gain) x 60 lbs gain x 100 lambs = 30,000 lbs feed
3. If feed cost is $200/ton, what is the estimated total group

    feed cost? 

(30,000 lbs feed /2,000 lbs per ton) = 15 tons feed
15 tons x $200 /ton = $3,000 feed cost

4. What is the feed cost of gain?

$3,000 feed cost / (120 lbs- 60 lbs) x 100 lambs = $.50/lb
5. Virginia Cooperative Extension recommends that the lamb rations

   contain 0.5% ammonium chloride. How much total ammonium chloride 

   will you need to complete the feeding period?

30,000 lbs feed x .005 = 150 lbs








6. Based on the opportunity that you could invest your funds in a Certificate of
Deposit at 5.0% annual return. What is the Opportunity Cost of the funds you
invested in the feeder lambs?
60lbs x 1.00 lb x 100 lambs = $6,000 investment
$6,000 x .05= $300 annual opportunity cost

$300 annual opp cost/ 4= $75/quarter(~90 days)  or

($300 annual opp cost/ 365 d) x 90days= $73.97 for 90 days

7. If the lambs dress 55%, the average carcass weight is?

120 lbs x .55 = 66 lbs carcass
 
8. Based on a $2.00/lb carcass price, the projected gross income should

    be _________ for the pen of lambs.

100 lambs x 66 lb carcass x $2.00 = $13,200

9. The net return per lamb after feed cost is ______.

$13,200 total cost - $6,000 lamb cost - $3,000 feed cost

= $4,200 net return







10. If 50% of the lambs receive a premium ($.05/lb) for superior
     cutability and 10% of the lambs receive a deduction ($.10/lb) for 
     Yield 4; what is average carcass price after accounting for cutability adjustments?
(.50 x $2.05) + (.10 x $1.90) + (.40 x $2.00) = $2.015/lb
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